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Intro

Today we will 7"pa learn v"1 97 of 911 nooN )

Some of the topics we will learn about include. X2'PV "175 source f or

A continuation of R2pY *27's source for mzm Y RO P13 ."tl

The reason that X2'pY *27 requires both mx 1arS for the n]XD nDl, RDUD

Drasha.

The reason X2'gV '11
requires
both mN’:w 7":&7:
for the Drasha

The Mishnah'’s Halachah of

1o PR MRV DR DY

The forms of n» nkmw through which a Nazir must
shave-off his hair and bring Korbanos nxmwv;

The reasons why the Mishnah mentions both, nin 5y and

R I, .yé/\/

PINDI 198 Oy
M9 M3

YARI 'S [ mpyem by

1;;‘_”‘2:3 ?I::: N 19 1S O
/

WA?/ the Mishmak
mentiony both

e
i
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. Some of the terms and concepts we will learn about
include

N WA is RV only when it is a 1>

nm»nIaR is XV only when it consists of DY, bone, w3, nDn 1\’.’:
1S XNVN
when it is a ot

flesh, even less than a 1> and P72,

NN 1R
1S RNLVN
when it consists of

1’772 - W2 - OXRY

. R MnRY are XYY only when they equal % ap.
However, a Nazir is only n%» when the mn3y
equal ¥ 2p.

NN MNXY
are XRpPLH
only when they equal

14 2D

However,
a Nazir is only n%n
when the nmxy equal

Y2 2P

Dedicated By: DafHachaim.org Nazir 49-2




Dedicated By:

BR AT MM

So let's review ...

The Gemara in the previous Daf mentioned X2py 17's
source that a 713 and a %172 172 are each mx» NS KDV
because the Pasuk regarding a Nazir states;

R K> N wo3 5y ' 1t 5

AR PARD MR YIRS

DN D2 RPY’ RS

mwol

PPN R

The word wos refers to strangers, and the extra word nn»
includes even relatives.

Therefore, MR PaRb are available to teach

ROV IPR IR PIRD

MR DY NI RPVD DIR

Only to his father and mother may he NOT become xiv,
but he may become X»v to a mzm nn.

And ynr> teaches that

PIIRIN A" 7PN DNV

RIDVM PR YIRS

MEH I R RPOM HIR

That even if he was both, a Nazir and a 517 j713, it is only to
his brother that he may NOT become x»v, but he may
become Xnv to a mxn nn. And

iatiab PRy e

311105 n

If he is mzm» N5 XpoH when he is both, a»7a o and a
Nazir, then he is certainly mzm» nn> Xpon when he is only a
975 1.

Therefore the words 1KY 1ar> of 5173 j70 are mow to teach
23T W TV

The Gemara now asks

0D PRIT IR PN

According to X2’pY *27, why does the Pasuk of Nazir
include both ax5 and mx>?

As Tosfos explains, X2’y °27 holds

2ND7 73T ROD RIPD

The word mi» includes ALL o217 in the nnb xnv ToR, If
s0, YaR> and mRY are both superfluous for a Drasha, and
since only one word is needed for

IRD NN RHOD TN

Why does the Pasuk then include the second word?

And the same Kasha applies to 7 72 as well, because
21ND7 73T ROD RIPD

The words X2’ R> i mwo1 55 5p include all o'217p for the
nn% RPL MO'R. If 50, both PaRS and RS are w37 Ny,
and since only one word is needed for ’277 mw 7, why
does the Pasuk then include the second word?

DafHachaim.org

X2'PV 127’s source

that a 111 and a 171 |3
are lIX¥ 17 Xnun
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Therefore il 1ot o Jos oo
are Yo 1o teach »rz ol P74
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72T IR PR

2255
PINOD 207 /:ﬁ ,!:7/’)/1/

The word oy includes bl

The same Kasha applies
to 7172 |13 as well

PINIOD 107 /.’ﬁ /:7/’)/1/
Ao /_’//)/1/ /)/ég ,g /f include all PRIP
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The Gemara explains that only through both 11X »ax5,
are we able to say 21157 727 K51 RIpD, so that the words
MR PIARG are TWITY INND.

However, with rar5 or mx5> alone we could NOT say X1
21577927 RO», because 1ax> alone would teach that only
1R IS included in the nn5 RV NOR, because

NI ROV ARINT DYON

A father is a lesser 217p, because the relationship is
established only through a 10, However, mX is NOT
included, because

RTYT PYTT

A mother is a superior 217, because the relationship is
known to all as a fact.

And x5 alone would teach that only mX IS included in
the b RO NOR, because

702 7Y IR INDT

A mother is a lesser 217, because regarding vawi o, his
lineage does not follow his mother’s family. However, yax
is NOT included, because regarding vawn o a son
follows his father, as the Pasuk states

DMAR 125 DNOWNY

Therefore, regarding Nazir, only mx> x> together teach
mzn nnb koL, and regarding 5173 175, only MR YIRS
together are mow for 237 mw nm.

Dedicated By:
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Only through MRN PR,

are we able to say 21M190 727 XN RPN,
so that the words mx71 1axy are aw11y 1mm

However, with 7289 OR m&5 alone
we could NOT say 21150 727 X0 XIpn»

NIXY1 alone
would teach that
only X is MUX

1"axXY alone
would teach that
only PIX is MUX

5TR INDT
N2 YT

nNPINT DWN
RN RNHY2

I"axX is NOT included
OMIR M5 oMNDWNH

MX is NOT included
PNTOT PYTT

Wr%{m&

Regarding yr1a|n3
only NIX71 1IXT
together
aremvig
fora1Tmv a1

Regarding Nazir
only MIX71 PIXY
together
teach
71X1 7107 Xnun
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The Gemara continues to explain that according to *27
R2py the Pasuk of 5172 1710

N2 XD D MWD 53 5Mm

Is understood as follows:

The words 535 include

DpIn, strangers, in the nnH XDV NOR

And the word n» includes

Dap, relatives;

And the word mw»s1 is plural and teaches that

SR RDOPWY DNN 3WH KXW 0T 7°YI7

A 07 Y27 is SnRa Rpvn even when it was combined of
two o'nn.

Zugt Di Mishnah

A2 P MRV DR DY

These are the forms of n» nxmw through which a Nazir is
obligated in nnn, he must shave-off his hair and bring
ARMIV MI2IP:

by

NI I S,

Ifhe becomes xnv from a ni that was whole, and from a
1o of a nn, as the Mishnah concludes

5PN P2 RWPBA P2 VAR P

There is NO difference whether he became xpv from
contact, carrying, or from being in the same room.

The Gemara cites an incident in which ©1310 related to
A7 227 that N 27 taught our Mishnah's Halachah of
iy

R I 5

Upon which nmi 27 asked: Why did X127 mention 5y
nnn? Ifa Nazir is obligated in nxmw nnban through only
one m’1> of a n», he is certainly obligated through a
complete nn?

DafHachaim.org

The Gemara continues to explain...

According to X2'{gy '
the Pasuk of 9112 |13 is understood

N> X T el L5 "ai')w

Includes PRI Tnclude PPIN?

Plural:
PN YW 3 p3 Y7
Pots gl

3’)/@‘/

PINDI YON SY
M9 M3

a3 13
N
brINa o

nn 5y
s A o

oo related ts D3/ 1
RPN 101 taught
our Mishnah's Halachah of

e e e oy nan oy

Upon which D3/ 157 asked
Why did 97X 727 mention nnn Yy?

2 a Nagir iy obligated thro ondly one s o a s,
%/w Wj::rz‘wfj?oj@afe/ ;Zj;a;/% @ cmgz/@‘@é/‘/?
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The Gemara cites three explanations:

1.

'Oy 13 says

W2 11 YOY PRW MY ROR 1733 RS

non Sy refers to a o that decomposed and there was NO
qwa 1o left - even so the Nazir is still obligated in nn%an
because the n» is whole.

But the Gemara asks

1931 13191 2R HY

PW 5 R 1D SY

The Mishnah rules that a Nazir is obligated in nn>n
through one 972x that has NO 7wa n13, if so then he is
certainly obligated through a complete n» that has no n’1>
wa?

2.

Therefore, 30 17 explains;

P22 PR WP ROW Y915 ROR 197383 RS

nnn Sy refers to a fetus whose limbs were NOT yet bound
with sinews, which has NO 7wa m15, and NO 7ax nrmwo,
because a 728 must consist of bxy, bone, 7w3, flesh, and
17, sinews. Nevertheless, the Nazir is still obligated in
nnn because the nn is whole.

DafHachaim.org

N XRHR NOININRY
W2 T PHY PRY

Even so the Nazir is still obligated
because the 71 is whole

2

L]

N2 10N 2R HY
210w 5 RH 1910 HY

p)

W W&m
RON NOININRY
5015

PT722 1PI2R 1TWPNI RHW

A fetus whose limbs
were NOT yet bound with sinews,

which has NO1wa 13, and NO 12X NIXBIY

Nevertheless, the Mﬁg&r i still oé@m/
because the, np! iy whle
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3.

R17 explains

121 231799113732 2175 ROR 1IN

MPRY YT 72 PRY

nnn S refers to either, all the bones of the ni's largest
D728, or all the bones of the majority of 02°x, that
equals less than % ap, in which there is NO 7w3, and NO
7aR with P73 ,7w31,03p. Even so, the Nazir is still
obligated in nnYn because the ni> has all M3 of P 217
or piaan.

However, in the Mishnah's later case of mn3y 2p '3, he is
only x»v when the mn»xy equal the minimum of % a 2p,
because, as Tosfos explains, in that case the ni only has
partial mnxy of P a7 and P12 an.

DafHachaim.org

3

Py @WM/
ROR NI RH
129230 M9 11712 Y
NRY Y217 102 PRY

All the bones of the nu’s largest anax,
or all the bones of the majority of aax,
that equals less than ¥, g,
in which there is NO 1wa, and NO 1ax
with p1a1,1w3 oYy

Ever so, the Nagir iy still obligated
because the, pp/ /mxaﬂ/)//\b’}/o%
[N P10 f)D P2
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